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Section: Circuits

I the space provided, wite the letter of the term or phrase that best completes
cach statement o best answers each question.

1. Individual components i paralll cireuit experience the same
a. voltage. < power
b. current. d. dissipation.

2.A device connected to a 120 outlet has 2.0 A of current n It What Is
the power of this device?

adsW cow
bW & 80w

3. Acircult breaker acts 25 a switch creating a(n)________ clreuit
Wwhen current is oo high.
a. closed < open
b. serles. d. parallel

& What voltage is required to pass 0.5 A of current through a 4 53 bulb?
a0V 3V
b.225V dov

I the space provided, write the letter of the term or phrase that best matches
cach description.

__ 5.a cireultin which two or more paths are  a. switch,
connected to the voliage source b series circuit
__ 6. device that contalns a metal strp that < parallel ircuit
melts when  certaln current Is exceeded d. electric power
_ 7%.alowresistance altermative pathway for & use
current to travel in a circult . short circult

8. device used 1o open or close an electric
eizcult

9. circult in which the componenis form a
single path

10, the rate at whieh electrical workis done
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Answers Below
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